
Copyright © 2011 Jason International.
Jason International, Inc.  •   501.771.4477  			   Page 1 of 1			  Customer Service :  800.255.5766 

INTRODUCTION
Included with each GH20 Grip Handle Kit: 

•	 One (1) GH20 Grip Handle
•	 Two (2) 5/16” - 18 x 3/4” Hex Bolts
•	 Two (2) 5/16” Washers

INSPECTION
Inspect the kit for damage and any shortages prior to instal-
lation. Damage sustained in transit is the responsibility of 
the carrier. If transit damage is discovered, notify the car-
rier immediately and file a freight claim with them. If any 
shortages are noted, contact Jason Customer Service at 
800-255-5766.

Tools & materials required
For ease of installation, and safety, Jason recommends the 
use of the following tools: level, ruler, square, 1/2” wrench (or 
an adjustable wrench), drill, and circular saw if needed.

INSTALLATION
1.	 To obtain the hole-layout and proper handle placement, 

first locate the desired position of the GH20 Grip Handle 
on the bath.

	 NOTE: The GH20 Grip Handle Kit must be installed before bath 
installation.

2.	 Following Figure 1, mark the center of the handle 

position in the desired location. Measure to each of the 
screw insert positions and mark that position on the bath. 
 
caution: Do not use a mark that could stain or cannot 
be removed from the acrylic bath surface.

3.	 Drill two initial 1/8” [3.5 mm] pilot holes at the locations 
marked in the previous step. Use the drilled pilot hole as 
a guide and finish drilling the holes with a 3/8” [10 mm] 
diameter drill bit.

4.	 Attach a Washer to each of the Hex Bolts, as shown in 
Figure 2.

5.	 Attach the handle to the bath and fully thread one of the 
Hex Bolts into either of the threaded inserts on the GH20 
Grip Handle. Align the remaining threaded insert with the 
remaining hole and fully thread the other Hex Bolt into the 
threaded insert.

6.	 Using a 1/2” wrench, tighten both Hex Bolts until the GH20 
Grip Handle is secure.	

“to be removed for use by the occupant.”

49-1016-010
Date   06/2014

Owner’s Manual
GH20 Grip Handle(s) Kit
INSTALLATION INSTURCTIONS

Jason International, Inc. 
8328 MacArthur Drive

North Little Rock, AR 72118
www.jasoninternational.com

MADE IN THE U.S.A.

 

Acrylic Wall

Handle

Back of Bath
(Fiberglass)

Figure 2 - Handle Placement

Bath Wall1/2" x 3/4" Hex Head Bolt

5/16" Washer

Figure1 - Drill Dimensions

NOTE: As dimensions of this template may change during the printing process, verify 
actual dimensions before drilling. Jason will not be responsible for dimensional errors.

GH20 Grip Handle Template
IMPORTANT:  Before Drilling

Be sure to check the backside of tub shell for adequate clearance 
for holes and mounting hardware.

6 1
16"

 [15.4cm]

21
8"

 [5.4cm]

11
8"

 [2.9cm]

8 9
16"

 [21.7cm]

6 1
16"

 [15.4cm]

11
8"

 [2.9cm]

8 9
16"

 [21.7cm]



A
crylic W

all

H
andle

B
ack of Bath

(Fiberglass)

Figure 2 - H
andle Placem

ent

B
ath W

all
1/2" x 3/4" H

ex H
ead Bolt

5/16" W
asher

Figure1 - D
rill D

im
ensions

N
O

TE
: A

s dim
ensions of this tem

plate m
ay change during the printing process, verify 

actual dim
ensions before drilling. Jason w

ill not be responsible for dim
ensional errors.

G
H

20 G
rip H

andle Tem
plate

IM
P

O
R

TA
N

T:  B
efore D

rilling
B

e sure to check the backside of tub shell for adequate clearance 
for holes and m

ounting hardw
are.

6
116 "

 [15.4cm
]

2 18 "
 [5.4cm

]

1 18 "
 [2.9cm

]

8
916 "

 [21.7cm
]

6
116 "

 [15.4cm
]

1 18 "
 [2.9cm

]

8
916 "

 [21.7cm
]


